BA6HE LTIV

CUNEERT=IN (O b x0777)

HE ERES  (T&M) —
21-312
21- 3
. . SN 0 2
A B (VA 9777) 2 X R B (ARROWS)
21- 6 21-13
AR (Frve 4v) e 2 2 o SO EARG Gror” AvAN)
21-14 0 0 0 2] 23-21
1-9 -
e f— 2 21-17
S Glanz) - —— Aol o e 0 BBER ()
s 21-19
TE B 0P —— 218 7 OB GRlvir)
A 2] z1-8
- 21- 17
LG ° 0 o O S Gon o)
a- g e B
TR HHE (HEkEkids) —— B . -
21-610 2 2 0l s HE L3 Wiy 157°)
FARERS Omter) —e 2 7] R )
I WS £ (b1 TBC)
=(FLRER
AL Onde ) )
21-18| 2
16-21
W =M (B=IBC) 21-16 | 1




BA5E LTIV

AR (O x1777) —1 72l SR (ARROWS)
- 21- 8
21-11 21- 3
A HLER Ock E< 580 0 2 2 2 0 WS )
-5 -4
21- 9
BEEA (s ) 2 2 o Rk WHE G )
- . - 21-15
s R e ) —— ] 2 W peshiL (BT 227)
2-17] 2 0 ;g_g
21-17
AR (BETEO) 1421 2 2112 e X ERMAR (BLAZE. B.C)
21-10
FE A cmnerom — 22T |0 0 I OEA Cox o)
21- 8 0 1 21- 4
21-10 21-10
EATaEZa::) (B3 ESY 37)77") e A A g
z1-11 0 2 9 oo BT &AL )
- 21-12
TINEERE & (07 L %157") ] 2 2 E 48 G 4)
=ARE
TINEERE & (OREEITT)
1121 1
21-19
g 4R (FrrEdy) 21-18 | 2




BAAE T IVA

FAGES (07 & %057°) T ) I (eio)
- 21- 5
21-11
N g 0 2 21- 7
T R CRERLD 21-18 2 0 A L@ kb < 6 IB0)
- 21- 7
R ‘ 21-18 9 ) 21- 2
T KB i E< B8O 1o 0 . Sl WG GEfbn)
— ~ 2-819 X
Yﬁu JLX (72 ZBC) e yito 9 0 - li_l‘J” e~ (Gl f1y 227)
. 21-18 51-19 21-19
A RBQ) 01777 ——— ) 21-11 1A AIFO (b= ZBC)
2111 2] 21- 4
- 21- 9
e BERQ® Y 227) 0 o 0 . . 0 0 Tl W s
I Kk A =
g i (& 72 Ekids)  —r am g e ids
%1_3 0 2 2 0011 Bl MK (b7 Xkids)
B 21-10
Sl HAG (Polaris) —mmI 2 2 R G
=[RIREE
%:Jll %E@ (Polaris)
21-15] 2
12-21
KE EZ2N v-uva=7) 21-18 | 1




LA 6HE T IVA

KA WFN (D72 L &)77) e %{% %% (REMTY" 4=7)

2| 21-10
21-13
AK EB @RV 227) ——— X 2 2 0 N0 BBl (Y-HY 2=7)
21-12 21- 7
21-12 9 0 21-10
BEAR FHID Gebribin)  e— e [ HEE (Fx My 227)
o oLy
e =719 2216 . . o
W Y R 2n)) — FH %2 (MvrIIT)
21-9| 2 0 |21-15
21-15 21-16
A BAAE (Flour Jr.) —— o MABE  Orez7)
21-18
21-14
&t IR (Pt ) 0 0 0 X R EER @rebubin)
21-14 0 2 21-10
21-15 21-14
F Aok Fyot' 4vr)  —— A SRR (Frve' 4v)
21- 9|0 2 2 0/ 21-8
21- 97 2] 21-10
HH Ak (Te-aTJr. ) e— ZK BE (RlAMIT)
=[RIREE
C T ST
25231 0
21-13[5
K FE ENVa=T)



T BTV

WF BE G =)

20 21-
IS (028077 ey ) 5 A
i 2 T ) 57
. - 2 21-11
KW R (qvRTII77) 0 0 21- 6
21-610 Wk B G een)
21-419 0 0/ 21-11
WE DB O E< 5B e -6
W Pud (T EY 227)
. . o-12] 1 2 |a-16
Vi NI 5O SR o p— ) 21-10 e 5113
21-15 25-23 HH OB s 50
. 2410 0 21-17 0 91-»
5275 N o (FERTY 227) 0 0 2 21- 4 B
aoe ) Mk HE (G
21- 9
EALRE RS CRAELY) ey X 9 21-17 )
B A (23073
U 2 0/ 21-5
B LE (FRY 177) ] 2 21- 4 " ( )
\r — 51 AR Polaris
=[RIREE
B LE @RV2=T) 0
22-20
21-18 [
WF EE  @eva=7)




LA AE LTIV A

EHR % Gty 1 o — KM (Y 227)
2-810 ]2 0 7| 2116
W D AR (Axis) IWF ZR (REAIT)
24 2118
LRSS (ARROWS)  ——5= : 0 2 2 9 » e R B B a5T)
21-17 21- 9
L ¥ BB Ok E < b JBO) 2112 [ BiRk WE L Ooka< IR0
21-9| 2 0 |21-18
KATED  (hxis) —— S T WH A G )
—1» 21 5 9 i e Ay
215 24
A Tk (V-0 a27) 0 2 0 0 SR S B bvihin)
21-11 0 0 21-12
21-3 21-18
T WES (W AJr.) ——— 0 HEBE ZH{k©@ (7= ZBC)
° ? A
A (FA/E A e 2 2 W WHER (ARROWS)
=[RIREE
KAMED (Axis)
21-111 0
21-15
[ IEHE)] (ARROWS) 2




FEDNI A ey
=il R
REE A
HH LG
A AR
ANIIRE Y2
riGE Bt
W i

TR AR
T B
R
Hok

=70

(Frrt" 1Y)

(I A%" =ILU)

(B % HEY 227)

(=W p=2")

(Brfya=7)

(=N r—2x)

BF6HELTILA

21-15
A 2 0 X N
21-10 2 0 21-14 *ﬁlK 1ﬁ*ﬁ®
21-9 21-19 2111 O A
24-22 0o 2716 2 00913 =M &N
21-15 2127 ok EE
B
=RREE
Tz
25-23 | 1

A At
AR gy

=Ny n=2")

R H-H/ 1 3 b)

Ot Jr. )

GQy¥-1777)



BT S5HEXLTILA

?gfg\ i VHREETr) : 21-19 I_ 21-17 ’ — %E Iﬁi{/it (¥=177")
21-1 21- 1
g sl ié y i st
Tﬁ%}\%% C(=23V0! M _I—EPET@?J =@ (OF & x977°)
=R TEE
ﬁ%;ﬁﬁi G k) —

1= 21-14
NERES  (Axis) |2

NS



BHAEL TR

PRI WA

RIS 2[21-5 AIB MO (ARROVS)
arm s |2 ! ] R P,
ok IZIEE rhia) 21-12] O 2 -9 ATH HRHE B
KE HHO | 251000 g 21-1 [ G-
BAEE X 2718 | 0ly-e WA BHO T
e KE 2|2“4 LI L [,

=R TEE Bk B3Q
X EEQ) i

vy b
KE #7FO (b 21-16| 0
a7 e 21—15|

Felis i fo (ARROWS) 2

RIS HEZrO®



LA 6EF T IV A

R PR

/ \BE{ //j\*"
EPE“‘\:L'-) _I_
( ’ ) 0 X

2 AN BB
R . - 2 0 | 99-90 % 1%
(9%-177") 21718
’ 182011 27210 g11g 21-16 me %5
. 21-13 | 2 21718 9 02115 1T L
(7o=2"Jr.) 21-10 ; .
2 AL B3
=R TEE ] MR
(Tue—XJr.)
21-16 | 0

23-21 I
(HEAT S =2 =7 ) 2

(Bl F /I b h7i)



FRRE REE
FRfE A
WH JEE
&7 HiE
RO R
e T2
bR

K T

B
TR

IS SESE
VT 4L RD

LA BHEXTIVA

JIJE B3

V7 a]) —— — ARROWS
(= 1-742 21 91- 0 TR HRR@D ( )
=Wy~ n=2") i 0 2 X 0 1 RS (R 1 )

21-17 O 2 R HEH

21-15 e e
Ny ‘ 21-15 A ZERT ey o
(oa=r777) 0 21-18 0/91-4 TITH &M B

21- 5 B kg ‘
N J— X 2 —2% gg (&7 ZBC)
=RREE
(Rv%—s57)
X

(ARROWS)




BT
e
A
AT BIEFHIQ
TR
R
 SLEE
[ 3O

(R Ee
J/NEER el
A
i oI

LA AFEX T IV A

(O &xI777)

Cix=23Y))
21-11 | 21-14
21- 8 27-29 21-15
(TWh7 47) 21-15
21-19 _
2o L2 21-15 2
. 22-20
(& 7= ZBC)
=R TEE
(TNHT 4 7T) T 1
21- 4
Kby 57) 2- 9|2

0! 21-15
9] 2i-14

NI S

HIASH] e
FAF LERE
A FKib+O
INFR RESE
AL A+

. tN57
21- 912 2|21—18 R SIEE o 7
2-670 2 0 0] %12 thupm.Ls
2 1
0

(O &x9777)

(Y-HY 2=7)

(T&M)



